
Id 1

Question A tap can fill a cistern in 8 hours and another tap can empty it in 16 hours. If both the taps
are open, the time taken to fill the tank will be 

एक नल ८ घघंटटे मम एक टटक भर सकतता हहै और ददसरता नल १६ घघंटटों मम इसटे खतालली कर 
सकतता हहै| यदद ददोनटों नल खखलटे हट तदो टटक भरनटे मम ककतनता समय लगटेगता?

A 8 hours

८ घघंटटे 
B 10 hours

१० घघंटटे 
C 16 hours

१६ घघंटटे 
D 24 hours 

२४ घघंटटे 
Answer C

Id 2

Question Three candidates in an election received 1136, 7636 and 11628 votes respectively. What 
percentage of the total votes did the winning candidate get? 

एक चखनताव मम ततीन उममतीदवतारटों कदो क्रमशशः ११३६, ७६३६ और ११६२८ वदोट पतापत हखए| जतीतनटे
वतालटे उममतीदवतार कदो कख ल वदोटटों कता ककतनता पततशत ममलता ? 

A 11.6%

B 60 %

C 76.4 %

D None of these 
इनमम सटे कदोई नहलीघं 

Answer D



Id 3

Question 3 men or 5 women can do a work in 12 days. How long will 6 men and 5 women take to 
finish the work? 

३ पखरुष और ५ मदहलताएघं एक कताम कदो 12 ददनटों मम कर सकतती हट| ६ पखरुष और ५ मदहलताएघं
उस कताम कदो पदरता करनटे मम ककतनता समय लमगटे ?

A 4 days

४ ददन 
B 10 days

१० ददन 
C 15 days

१५ ददन 
D 20 days 

२० ददन 
Answer A

Id 4

Question Vikash bought 20 dining tables for Rs.12000 and sold them at a profit equal to the selling 
price of 4 dining tables. The selling price of each dining table is 

ववकताश नटे २० डताइतनघंग टटेबल १२००० रुपए मम खरलीदटे और ४ डतायतनघंग टटेबल बबक्रक्री मदलय कटे
बरताबर लताभ पर बटेच ददए| पतयटेक डताइतनघंग टटेबल कता ववक्रय मदलय हहै 

A Rs.700

७०० रुपए
B Rs.750

७५० रुपए
C Rs.725

७२५ रुपए
D Rs.775

७७५ रुपए
Answer B



Id 5

Question Find simple interest on Rs.5600 at 6
2
3

%  per annum for 9 months. 

पततवषर्ष 6
2
3

% कक्री दर सटे ९ महलीनटे कटे मलए ५६०० रुपए पर सताधतारण बयताज ककतनता 

हदोगता ?

A Rs.420

४२० रुपए
B Rs.28

२८ रुपए
C Rs.280

२८० रुपए
D Rs.70

७० रुपए
Answer C

Marks 1

Unit Section_Officer

Id 6

Question The speed of a train 150 m long is 50 kmph. How much time will it take to pass a 
platform 600 m long? 

१५० मती लघंबती एक टटेन कक्री गतत ५० ककमती पतत घघंटटे हहै| तदो ६०० मतीटर लमबटे एक पलटेटफतामर्ष
कदो पतार करनटे मम उसटे ककतनता समय लगटेगता?

A 50 sec.

५० सटे.
B 54 sec.

५४ सटे.
C 60 sec.

६० सटे.
D 64 sec 

६४ सटे.
Answer B



Id 7

Question Each side of an equilateral triangle measures 8 cm. Its area is 

एक समतखलय बत्रिभखज कता पतयटेक मसरता ८ सटेमती हहै| तदो इसकता कटेत्रिफल हहै  
A 64cm2

६४ सटेमती २

B 16√3cm 2

१६√३सटेमती २
C 4√3cm2

४√३सटेमती२
D 21.3cm2

२१.३सटेमती २

Answer B

Id 08−10

Main Text All the 30 students of a class took a test on Mathematics and a test on English.
The following table shows the result: 
Subject Passed Failed   

Mathematics 25 5

English 22 8
Two students failed both in Mathematics and English. 

ककता कटे सभती ३० छतात्रिटों नटे गणणत और अघंगटेजती ववषय कक्री परलीकता दली| तनमन 
ततामलकता परलीकताफल ददखतातती हहै:
ववषय उततीणर्ष अनखततीणर्ष 

गणणत २५ ५ 

अघंगटेजती २२ ८ 
ददो छतात्रि गणणत और अघंगटेजती ददोनटों मम फटेल हखए|

Question How many students failed in only one subject? 

ककतनटे छतात्रि कटेवल एक ववषय मम फटेल हखए?

A 28

B 25

C 22

D 9

Answer D

Question How many students passed in at least one subject? 



ककतनटे छतात्रि कम सटे कम एक ववषय मम पतास हखए ?

A 28

B 25

C 22

D 9

Answer A

Question How many students passed in both the subjects? 

ककतनटे छतात्रि ददोनटों ववषयटों मम पतास हखए ?

A 28

B 25

C 22

D 19

Answer D

Id 11

Question A park has an average of 140 visitors on Sundays and 80 on other day. The average 
number of visitors in a month of 30 days starting with Sunday is 

एक पताकर्ष मम रवववतार कदो औसतन १४० और अनय ददन ८० आगघंतखक आतटे हट| रवववतार सटे 
शखरू हदोनटेवतालटे ३० ददनटों कटे महलीनटे मम आगघंतखकटों कक्री औसत सघंखयता हहै 

A 70

B 90

C 80

D 85

Answer B



Id 12

Question Find a positive number which when increased by 26 is equal to 120 times the reciprocal 
of the number? 

एक ऐसती धनतातमक सघंखयता पतता लगताइए जजसटे २६ सटे बढ़तायटे जतानटे पर वह इस सघंखयता कटे 
ररमसपकल कटे १२० गखणता कटे बरताबर हदो?

A 3

B 7

C 6

D 4

Answer D

Marks 1

Unit Section_Officer

Id 13

Question A cube of maximum possible volume is cut from a sphere of radius 5√3 cm. What is the 
ratio of the volume of a cube to that of the sphere? 

5√3 सटेमती बत्रिजयता कटे गदोलटे सटे अधधकतम सघंभताववत आयतन कटे एक घन कदो कताटता जतातता हहै |

गदोलटे और घन कटे आयतन कता अनखपतात कयता हहै ?

A 8: √3 π 

B 4: √3 π 

C 2: √3 π 

D 7: √3 π 

Answer C



Id 14

Question A person’s present age is 4/5th of the age of his brother. After 10 years, he will be 9/10th 
of the age of his brother. How old is the brother at present. 

ककसती वयदद्रि कक्री वतर्षमतान आयख उस कटे भताई कक्री आयख कक्री ४/५ वताघं हहै | १० वषर्ष बताद, वह 
अपनटे भताई कक्री उम्र कता ९/१० वतीघं हदोगता| वतर्षमतान मम भताई ककतनटे वषर्ष कता हहै |

A 35 years

३५ वषर्ष 
B 25 years

२५ वषर्ष
C 40 years

४० वषर्ष
D 10 years

१० वषर्ष
Answer D

Id 15

Question If 7 sin²θ+3cos²θ=4, then find the value of θ  ? 

यदद 7 sin²θ+3cos²θ=4, हहै, तदो θ कता मतान पतता लगताएघं?
A 20° 

B 30° 

C 45° 

D 55° 

Answer B



Id 16

Question Find out the circumference of a sector whose radius is 7 cm and it makes the angle of 45° 
at the centre. 

ऐसटे कटेत्रि कक्री पररधध पतता लगताए जजसकता बत्रिजयता ७ सटेमती हहै और यह कम द्रि मम 45° कता कदोण 
बनतातता हहै |

A 19.5 cm

१९.५ सटेमती 
B 17.5 cm

१७.५ सटेमती
C 14 cm

१४ सटेमती
D 15 cm

१५ सटेमती
Answer A

Id 17

Question Find the number of silver balls of diameter 2 cm each, that can be made from a sphere of 
diameter 32 cm. 

पतयटेक २ सटेमती वयतास कटे चताघंदली कटे गदोलटे कक्री सघंखयता पतता लगताए, जजनहम ३२ सटेमती वयतास कटे 
गदोलटे सटे बनतायता जता सकतता हहै |

A 2048

B 512

C 4096

D 1028

Answer C

Id 18

Question The remainder obtained when (47³ + 35³) is divided by 41 is 

जब (47³ + 35³) कदो ४१ सटे ववभताजजत ककयता जतातता हहै तदो पतापत हखआ शटेष हदोतता हहै 
A 0

B 2

C 4

D 1

Answer A



Id 19

Question If x+
1
x
=5  then find out the value of x5

+
1

x5
?  ? 

यदद x+
1
x
=5 तदो x5

+
1

x5
? कता मतान पतता लगताएघं?

A 1525

B 2530

C 2525

D 2025

Answer C

Marks 1

Unit Section_Officer

Id 20

Question A thief steal a car at 2:30 pm and drive at a speed of 80 km/hr. Police came to know about
thief at 3:30 pm and start chasing him with the speed of 90 km/hr. After how much 
kilometre police will catch the thief? 

एक चदोर २:३० बजटे एक कतार चदोरली करतता हहै और ८० ककमती /घघंटटे कक्री गतत सटे डताइव करतता 
हहै | पखमलस कदो ३:३० बजटे चदोर कटे बतारटे मम पतता चलता और ९० ककमती/घघंटटे कक्री गतत सटे उसकता 
पतीछता करनता शखरू करतटे हट| ककतनटे ककलदोमतीटर कटे बताद पखमलस चदोर कदो पकड़ लटेगती?

A 720 km

७२० ककमती 
B 640 km

६४० ककमती
C 860 km

८६० ककमती
D 540 km

५४० ककमती
Answer A



Id 21

Question Select the related word/letters/number from the given alternatives. 
Shirt : Button : : Shoes : ? 

ददए गए ववकलपटों मम सटे सघंबघंधधत शबद/अकर/सघंखयता कदो चखतनए|

शटर्ष : बटन : : जदतटे : ?

A Socks

जखरताबम 
B Shoe lace

फक्रीतटे 
C Leg

पहैर 
D Sole

तलवता 
Answer B

Id 22

Question Select the related word/letters/number from the given alternatives. 
5 : 625 : : 6 : ?  

ददए गए ववकलपटों मम सटे सघंबघंधधत शबद/अकर/सघंखयता कदो चखतनए|

५ : ६२५ : : ६ : ?

A 1296

B 256

C 216

D 1396

Answer A



Id 23

Question Find out the odd word/letters/number/number pair from the given alternatives. 

ददए गए ववकलपटों मम सटे ववषम शबद/अकर/सघंखयता जदोड़ता पतता लगताएघं|
A Tokyo

टदोकयदो 
B Wellington

वटेमलघंगटन
C Canberra

कहैनबरता 
D New York 

नयद ययॉकर्ष
Answer D

Id 24

Question Sonu travels 8 km towards west, then turns right and another 5 km, and then he turns 270 
degree anticlockwise. Which direction is he facing now? 

सदोनद पजशचम कक्री ओर ८ ककलदो मतीटर सफर करतता हहै, कफर दताएघं मखड़ जतातता हहै और ५ ककमती
और सफर करतता हहै, कफर वह घड़ती कक्री ववपरलीत ददशता २७० डडगती मखड़ जतातता हहै| अब वह 
ककस ददशता कक्री ओर हहै?

A South

दककण 
B North

उतर 
C East

पदवर्ष 
D West

पजशचम 
Answer C



Id 25

Question Raman and Sohan are brothers. Deepak is the father of Raman and Sushma is the wife of 
Sohan’s only brother. Sakshi is the daughter of Sushma. How is Sakshi related to Dipak? 

रमन और सदोहन भताई हट| दलीपक रमन कटे वपतता हट और सखषमता सदोहन कटे इकललौतटे भताई कक्री 
पतनती हट| सताकती सखषमता कक्री बटेटली हट| सताकती, दलीपक सटे कहैसटे सघंबघंधधत हहै?

A Sister-in-Law

भताभती 
B Niece

भततीजती 
C Grand daughter

नतातती 
D Daughter

बटेटली 
Answer C

Id 26

Question A series is given with one term missing. Choose the correct alternative from the given 
ones that will complete the series:- 

एक शशघंखलता दली गई हहै जजसमम एक अघंक नहलीघं हहै| ददए गए ववकलपटों मम सटे सहली ववकलप चखनम
जदो शशघंखलता कदो पदरता करटेगता:-
84 68 54 42 32 ?

A 18

B 24

C 16

D 20

Answer B



Id 27

Question A series is given with one term missing. Choose the correct alternative from the given 
ones that will complete the series:- 

एक शशघंखलता दली गई हहै जजसमम एक शबद नहलीघं हहै| ददए गए ववकलपटों मम सटे सहली ववकलप चखनम
जदो शशघंखलता कदो पदरता करटेगता:-
BC ?   LM    TU    DE 

A EF

B HI

C AB

D FG

Answer D

Id 28

Question A series is given with one term missing. Choose the correct alternative from the given 
ones that will complete the series:- 

एक शशघंखलता दली गई हहै जजसमम एक शबद नहलीघं हहै| ददए गए ववकलपटों मम सटे सहली ववकलप चखनम
जदो शशघंखलता कदो पदरता करटेगता:-
FU   NM    TG    XC ? 

A KL

B BZ

C ZA

D CY

Answer C

Id 29

Question Select the related word/letters/number from the given alternatives. 

ददए गए ववकलपटों मम सटे सघंबघंधधत शबद/अकर/सघंखयता कदो चखतनए|
BD : FH : : LN : ? 

A OR

B PR

C RS

D QS

Answer B



Id 30

Question Which one of the following will be the last but one when arranged according to the 
English Alphabetical Dictionary? 

तनमनमलणखत मम सटे कलौनसता, अघंगटेजती वणर्षमतालता शबदकदोश कटे अनखसतार वयवजसस्थित हदोनटे पर 
अघंततम लटेककन एक हदोगता?

A Indiscriminate

B Indiscipline

C Indiscretion

D Indiscernible

Answer C

Id 31

Question In a certain code GIVEN is coded as 285 and MADE is coded as 92, then what is the code
for MOBILE? 

ककसती तनजशचत कदोड मम GIVEN कदो २८५ और MADE कदो ९२ कटे रूप मम कदोडडत ककयता 
गयता हहै, तदो MOBILE कटे मलए कदोड कयता हहै?

A 230

B 340

C 336

D 430

Answer C



Id 32

Question Which of the following figures correctly represents the relationship among the three sets 
for Boys, Girls, Adults 

तनमनमलणखत मम सटे कलौन सता धचत्रि सहली ढघंग सटे ततीन सटेटटों कटे बतीच कटे ररशतटे कदो दशतार्षयता हहै 
लड़कटों, लडककयटों, वयसकटों 

A

B

C

D

Answer A

Id 33

Question If GENERAL is coded as FFMFQBK and OXFORD is coded as PWEPQC, then what is 
the code for LEARNER? 

यदद GENERAL कदो FFMFQBK कटे रूप मम कदोडडत ककयता जतातता हहै और OXFORD कदो 
PWEPQC कटे रूप मम कदोडडत ककयता जतातता हहै, तदो LEARNER कटे मलए कदोड कयता हहै?   

A KBFQMFQ

B KFBQMFQ

C KFBMQFQ

D KBFMQQF

Answer B



Id 34

Question Today is Thursday. After 52 days, it will be: 

आज गखरुवतार हहै| ५२ ददनटों कटे बताद, कयता हदोगता:
A Sunday

रवववतार 
B Tuesday

मघंगलवतार 
C Monday

सदोमवतार 
D Saturday

शतनवतार 
Answer A

Id 35

Question If 3792 = 39 and 7242 = 22, then 2958 =? 

यदद3792 = 39 और 7242 = 22, तदो 2958 =?  

A 48

B 58

C 68

D 78

Answer B

Id 36

Question What is the reflex angle between the hands of a clock at 8:30? 

8:30 बजटे एक घड़ती कटे हतास्थिटों कटे बतीच पलट कदोण कयता हदोतता हहै?
A 197⁰

B 285⁰

C 185⁰

D 255⁰

Answer B



Id 37

Question If a mirror is placed on the line AB, then which of the answer figure is the right image of 
the given figure? Question figure: 

यदद एक दपर्षण कदो रटेखता AB पर रखता जतातता हहै, तदो उतर धचत्रिटों मम सटे कलौनसता धचत्रि दली गए 
धचत्रि कक्री सहली छवव हहै?
पशन कता धचत्रि:

Answer figures: 

उतर कटे धचत्रि 
A

B

C



D

Answer B



Id 38

Question In the following question, among the four answer figures which one can be formed from 
the cut out pieces given below? Questions figure: 

तनमनमलणखत पशन मम, उतर कटे चतारटों धचत्रिटों मम सटे कलौन सटे वतालटे कदो नतीचटे ददए गए कटआउट
टखकड़टों सटे बनतायता जता सकतता हहै?
पशन कता धचत्रि :

Answer figures: 

उतर कटे धचत्रि 
A

B

C

D



Answer D

Id 39

Question If the positions of the first and fifth digits of the number 83591427 are interchanged, 
similarly the positions of the second and the sixth digits are interchanged and so on then 
which of the following will be the second from the right end after the rearrangement. 

यदद 83591427 सघंखयता कटे पहलटे और पताघंचवटे अघंक कटे सस्थितानटों कदो आपस मम बदलता जतातता हहै, 
और इसती तरह दखसरटे और छठटे अघंक कटे सस्थितानटों कदो आपस मम बदलता जतातता हहै, और इसती 
तरह अनय कदो, तदो तनमनमलणखत मम सटे कलौन सता अघंक पखनतनर्षधतारण कटे बताद दतादहनटे छदोर सटे 
ददसरता हदोगता|

A 5

B 3

C 9

D 2

Answer A

Id 40

Question In a certain code REASON is coded as 72 and GIVEN is coded as 57, then what is the 
code for MOBILE? 

एक तनजशचत कदोड मम REASON कदो 72 और GIVEN कदो 57 कटे रूप मम कदोडडत ककयता जतातता
हहै, तदो MOBILE कटे मलए कदोड कयता हहै?     

A 56

B 30

C 50

D 40

Answer A

Id 41-44

Question Type Comprehension

Unit Section_Officer 



Main Text Look at the underlined idioms in each sentence. Below each sentence four 
possible meanings for the idiom have been given as (a), (b), (c), and (d). 
Select the phrase that most nearly brings out the meaning of the idiom and 
mark your response appropriately on the Answer Sheet 

Question In his present circumstances, he can just keep the wolf from the door. 

A save his family from the wolf

B save his family from his cruel enemy

C keep the wolf as pet

D manage to buy enough food for himself and his family 

Answer D

Question Some politicians play to the gallery in order to continue to positions of power.

A bribe aggressive people

B play on a musical instrument before people

C try to win popularity by appealing to the taste of the masses 

D play the tunes which please the masses 

Answer C

Question The Director had to burn the midnight oil to prepare his speech. 

A make his own tea at midnight 

B sit up and work until late at night

C prepare his supper at midnight

D make others work until midnight 

Answer B

Question Having decided to elope, she was prepared to face the music 

A to face difficulties boldly

B to throw a grand party

C to pay for a nice musical concert

D to defy her boss 

Answer A



Id 45-46

Main Text Each of the five items in this section consists of word or group of words 
followed by four words as (a), (b), (c), and (d), Select the word which is 
nearly opposite to the meaning of the original word or group of words and 
mark your response as (a), (b), (c), or (d), as the case may be, in your Answer 
Sheet. 

Question Get over 

A succumb

B overcome

C succeed

D outgrow

Answer A

Question Tranquil 

A peaceful

B solitude

C agitated

D quiet

Answer C



Id 47-51

Main Text Look at the underline part of each sentence. Below each sentence are given 
three possible substitutions for the underline part as (a), (b), and (c). If one of 
them is better than the underline part, mark your response as (a), (b), or (c), as
the case may be, on the Answer Sheet. If none of the substitutions improves 
the sentences, mark (d) (which stands for NO IMPROVEMENT) on your 
Answer Sheet. 

Question His bad temper makes difficult life for the entire family. 

A difficulty of life

B life difficult 

C impossible life 

D NO IMPROVEMENT 

Answer B

Question I hope you will do me the honour of paying me the visit. 

A paying me a visit

B paying me the visits

C paying me visits

D NO IMPROVEMENT 

Answer A

Question The river has overflown its banks. 

A overflew

B overdone

C overflowed

D NO IMPROVEMENT 

Answer D

Question The Minister has proposed for different approaches for solving the problem of
poverty. 

A has proposed about different approaches

B suggested about various approaches 

C has proposed different approaches 

D NO IMPROVEMENT 



Answer C

Question Three years ago we had less members of staff in our college than now. 

A had fewer members of staff 

B had not so many members of staff 

C had lesser members of staff

D NO IMPROVEMENT 

Answer A

Id 52

Question वगर्ष कता उचचतारण सस्थितान हहै?
A दनत 
B कणठ 
C ओषठ 
D मदधतार्ष 
Answer D

Id 53

Question चवगर्ष कता उचचतारण सस्थितान हहै ?

A ततालख 
B ओषठ 
C कणठ 
D इनमम सटे कदोई नहलीघं 
Answer A



Id 54

Question प, फ, ब, भ, म, कता उचचतारण सस्थितान हहै ? 

A ततालख 
B ओषठ 
C कणठ 
D दनत 
Answer B

Id 55

Question अनत: सस्थि वयघंजन ककतनटे पकतार कटे हदोतटे हहै ?

A सतात 
B आठ 
C चतार 
D पतापाँच 
Answer C

Marks 1

Unit Section_Officer

Id 56

Question इनमम सटे कलौन सता शबद सघंजता सटे बनता हखआ ववशटेषण हहै?
A कख ललीन 
B नमक 
C कश पता 
D जतातत 
Answer A



Id 57

Question इनमम सटे कलौन सता शबद सघंजता सटे बनता हखआ ववशटेषण हट?
A जतापतान 
B गखणती 
C दतान 
D जतातत 
Answer B

Id 58

Question इनमम सटे कलौन सता शबद सघंजता सटे बनता हखआ ववशटेषण नहलीघं हहै?
A नमकक्रीन 
B दयतालख 
C धनवतान 
D फख तर्ती 
Answer D

Id 59

Question इनमम सटे कलौन सता शबद सघंजता सटे बनता हखआ ववशटेषण नहलीघं हहै?
A अपमतातनत 
B तनयममत 
C वतावषर्षक 
D अपमतान 
Answer D



Id 60

Question इनमम सटे कलौन सता शबद सघंजता सटे बनता हखआ ववशटेषण हहै?
A इचछख क 
B पयतास 
C पशख 
D सनतदोष
Answer A

Id 61

Question इनमम सटे कलौन सता शबद सवर्षनताम सटे बनता हखआ ववशटेषण हहै?
A मट 
B वह 
C कदोई 
D तटेरता 
Answer D

Id 62

Question इनमम सटे कलौन सता शबद कक्रयता सटे बनता हखआ ववशटेषण नहलीघं हहै?
A चतालद 
B कमताऊ 
C समझनता 
D पदठत 
Answer C



Id 63

Question इनमम सटे कलौन सता शबद कक्रयता सटे बनता हखआ ववशटेषण हहै?
A वहतापाँ 
B यहतापाँ 
C कल 
D आज कता 
Answer D

Id 64

Question इनमम सटे कलौन सता शबद पखघंमलघंग सटे बनता हखआ सत्रितीमलघंग हहै?
A कतालली 
B बड़ता 
C ऐसता 
D इनमम सटे कदोई नहलीघं 
Answer A

Id 65

Question कलौन सता शबद सघंसकश त सटे तदभव बनतायता गयता हहै ?

A बचचता 
B वचछ 
C A और B ददोनटों 
D इनमम सटे कदोई नहलीघं 
Answer A



Id 66

Question कलौन सता शबद गखणवताचक ववशटेषण हहै ?

A लताल फद ल 
B पतापाँच लड़कटे 
C दस हतास्थिती  
D इनमम सटे कदोई नहलीघं 
Answer A

Id 67

Question सघंखयतावताचक ववशटेषण ककतनटे पकतार कटे हदोतटे हहै ?

A ददो 
B ततीन 
C पतापाँच 
D आठ 
Answer B

Id 68

Question कलौन सता शबद पररमताणबदोधक ववशटेषण हहै ?

A सटेर भर ददध 
B चतार गज 
C सब धन 
D इनमम सटे कदोई नहलीघं 
Answer A



Id 69

Question पयदोग कक्री दृषटली सटे ववशटेषण ककतनटे पकतार कटे हदोतटे हहै ?

A दस 
B चतार 
C ददो 
D इनमम सटे कदोई नहलीघं 
Answer C

Id 70

Question इनमम सटे कलौन ववधटेय -ववशटेषण हहै ?

A मटेरता लड़कता आलसती हहै |

B सततीश सखघंदर लड़कता हहै |

C (A) और (B) ददोनटों 
D इनमम सटे कदोई नहलीघं 
Answer A

Id 71

Question इनमम सटे कलौन सता शबद मदलतावसस्थिता हहै ?

A वपयतर 
B लघखतम 
C सखनदर 
D इनमम सटे कदोई नहलीघं 
Answer C



Id 72-80

Main Text Each item in this section consists of a word, underlined word/words in a 
statement or a phrase followed by four words or phrases as (a), (b), (c), and 
(d). Select the word/words or phrase which is/ are most nearly the same in 
meaning as the original one and mark your response as (a), (b), (c), or (d) as 
the case may be, in your Answer Sheet. 

Question Heroic 

A heinous

B hypnotic

C valiant

D villainous

Answer C

Marks 1

Question Dispute 

A deflect

B disagreement

C defy

D deify

Answer B

Question The factory turns out thirty new cars every day. 

A accepts

B produces

C paints

D sells

Answer B

Question The newly constructed bridge has given way. 

A opened to traffic

B inaugurated



C declared dangerous 

D collapsed

Answer D

Question There is evidently no trouble. 

A obviously

B with evidence

C absolutely

D nearly

Answer A

Question All are requested to abide by the resolutions passed in the meeting. 

A to put up with

B to stick to

C to comply with 

D to bear with

Answer B

Question To resolve to do something.

A To promise to do something 

B To try again to solve some problem

C To refuse to do something

D To decide to do something 

Answer D

Question A man who speaks several languages 

A bilingual

B multilingual

C methodical

D candid speaker 

Answer B

Question A man who goes on a journey to holy places 

A traveler

B saint

C pilgrim

D tourist

Answer C



Id 81

Question Which foreign country is closest to Andaman Islands?

कलौन सता ववदटेशती दटेश अघंडमतान दवतीप समदह कटे सबसटे करलीब हहै?
A Malaysia

मलटेमशयता
B Singapore

मसघंगतापखर
C Myanmar

मयताघंमतार 
D Taiwan

तताइवतान
Answer C



Id 82

Question Who was called Zinda Pir (living saint) in Mughal India?

 मखगल भतारत मम जजघंदता पतीर (जतीववत सघंत) ककसटे कहता जतातता स्थिता?
A Shah Jahan

शताह जहतापाँ
B Aurangzeb

औरघंगजटेब
C Jahangir

जहताघंगतीर
D Akbar

अकबर
Answer B

Id 83

Question Which is the tax that takes away a higher proportion of one’s income as the income rises?

कलौन सता कर आय कटे बढ़नटे कटे सतास्थि आय कता अधधक अनखपतात लटे जतातता हहै?
A Professional Tax

वयतावसतातयक कर
B Progressive tax

पगततशतील कर
C Service Tax

सटेवता कर
D Road Tax

रदोड टहैकस
Answer B



Id 84

Question Where is the Sargasso Sea located?

सरगताससदो समखद्रि कहताघं जसस्थित हहै?
A North Atlantic Ocean

उतरली अटलताघंदटक महतासतागर
B South Pacific Ocean

दककण पशताघंत महतासतागर
C Indian Ocean

दहघंद महतासतागर
D Arctic Circle

आजकटर्षक सकर्षल
Answer A



Id 85

Question Who commented that Cripps Mission was a post-dated cheque on a crashing bank?

ककसनटे यह दटपपणती कक्री स्थिती कक कक्रपस ममशन एक डदबतती हखई बटक पर मलखता हखआ एक 
उतर-ददनताघंककत चटेक स्थिता?

A C. Rajagopalachari

सती. रताजगदोपतालताचतारली
B Mahatma Gandhi

महतातमता गताघंधती
C Pandit Nehru

पघंडडत नटेहरू
D Netaji Subhashchandra Bose

नटेतताजती सखभताषचघंद्रि बदोस
Answer B



Id 86

Question Medicine for epilepsy is obtained from which lichen?

ममरगती कटे उपचतार कटे मलए ककस पकतार कक्री कताई सटे दवता पतापत कक्री जतातती हहै?
A Crustose

क्रसटदोज
B Foliose

फयॉमलओज
C Fruticose

फख दटकदोज
D Parmelia

पतामरमलयता
Answer D



Id 87

Question Up to what age can the members of the Union Public Service Commission function?

सघंघ लदोक सटेवता आयदोग कटे सदसय ककस उम्र तक कतायर्ष कर सकतटे हट? 

A 55 

B 58

C 65

D 60

Answer C



Id 88

Question Which type of glass is used for making glass reinforced plastic?

शतीशटे सटे पबमलत ककयता हखआ पलताजसटक बनतानटे कटे मलए ककस पकतार कटे कताघंच कता उपयदोग 
ककयता जतातता हहै?

A Topaz

पखखरताज
B Jade

हररतताशम
C Quartz Glass

बबलललौर
D Flintstone

चकमक पतस्थिर
Answer C



Id 89

Question Which is the greatest known ocean depth (which lies in the Pacific Ocean)?

महतासतागर मम सबसटे अधधक गहरताई ककतनती पतायती गयती हहै (जदो पशताघंत महतासतागर मम तनदहत 
हहै)?

A 15,000 m

15,000 मतीटर
B 11,033 m

11,033 मतीटर
C 10,720 m

10,720 मतीटर
D 5,000 m

5,000 मतीटर
Answer B



Id 90

Question At which place did Mahatma Gandhi first start his Satyagraha in India?

महतातमता गताघंधती नटे ककस सस्थितान पर पहलली बतार भतारत मम अपनता सतयतागह शखरू ककयता स्थिता?
A Patna

पटनता
B Sabarmati

सताबरमतती
C Dandi

दताघंडती
D Champaran

चघंपतारण
Answer D



Id 91

Question With which country is ‘Orange Revolution’ associated?

'ऑरमज क्रताघंतत' ककस दटेश कटे सतास्थि जखड़ती हखई हहै?
A South Africa

दककण अफक्रीकता
B Italy

इटलली
C Ukraine

यदक्रटेन
D Tajikistan

तताजजककसततान
Answer C



Id 92

Question With which field was Pandit Bhimsen Joshi associated?

पघंडडत भतीमसटेन जदोशती ककस कटेत्रि सटे जखड़टे स्थिटे?
A Hindustani Classical Music

दहघंदखसततानती शतासत्रितीय सघंगतीत
B Carnatic Music 

कनतार्षदटक सघंगतीत
C Ravindra Sangeet

रवतीघंद्रि सघंगतीत
D Indian Folk Music

भतारततीय लदोक सघंगतीत
Answer A



Id 93

Question What percentage of water is lost during transpiration?

वताषपदोतसजर्षन कटे दलौरतान पतानती कता ककतनता पततशत खदो जतातता हहै?
A 60 %

B 99%

C 40%

D 78%

Answer B



Id 94

Question Which is the most populous city in the world?

दखतनयता मम सबसटे अधधक आबतादली वतालता शहर कलौन सता हहै?
A Mumbai

मखघंबई
B Chennai

चटेननई
C Kolkata

कदोलकतता
D Tokyo

टदोकयदो
Answer D



Id 95

Question By which ruler was the practice of military governorship first introduced in India?

फलौजती रताजयताधधकतारली कक्री पस्थिता कदो भतारत मम पहलली बतार ककसनटे शखरू ककयता स्थिता?
A Huns

हदपाँनस
B Taimur Lang

तहैमदर लघंग 
C Greeks

यदनतानती
D Mouryas

मलौयर्ष 
Answer C



Id 96

Question Which country has the briefest Constitution in the world?

दखतनयता मम ककस दटेश कता सघंववधतान सबसटे सघंककपत हहै?

A India

भतारत
B Canada

कनताडता
C Switzerland

जसवटजरलटड
D USA

अमरलीकता
Answer D



Id 97

Question When temperature is gradually decreased, does the specific heat of substance

जब ततापमतान धतीरटे-धतीरटे कम हदोतता हहै, तदो ककसती भती पदतास्थिर्ष कक्री ववमशषट ऊषमता पर कयता 
पररणताम हदोतता हहै?

A Decrease

कम हदोतती हहै 
B Increase

अधधक हदोतती हहै 
C Remain the same

उतनती हली रहतती हहै 
D None of the above

उपरदोकत मम सटे कदोई नहलीघं
Answer A



Id 98

Question What is the mean of Invisible Export?

अदृशय तनयतार्षत कता अस्थिर्ष कयता हहै?
A Exported Software

सयॉफटवटेयर कता तनयतार्षत
B Exported Services

सटेवताओघं कता तनयतार्षत
C Tax free Exports

कर मखकत तनयतार्षत
D Food Exports

खतादय तनयतार्षत
Answer B



Id 99

Question Which is the country with the highest density of population in Europe?

यदरदोप मम जनसघंखयता कटे सवतार्षधधक घनतव वतालता दटेश कलौन सता हहै?
A Great Britain

गटेट बब्रिटटेन
B Germany

जमर्षनती
C Netherlands

नटेदरलटड 
D France

फताघंस
Answer C



Id 100

Question Who was made the Home Minister when Jawaharlal Nehru formed the Interim 
Government in 1946?

जवताहरलताल नटेहरू नटे 1946 मम जब अघंतररम सरकतार बनताई स्थिती तब उसमम गशह मघंत्रिती ककसटे 
बनतायता गयता स्थिता?

A Mohammad Ali Jinnah

मदोहममद अलली जजननता
B C. Rajagopalachari

सती. रताजगदोपतालताचतारली
C Sardar Patel

सरदतार पटटेल
D T. T. Krishnammachari

टली.टली. कश षणममताचतारली
Answer C


